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166 & L1 4 = 7 2| 4] 2015 01] 40170[ELTFPRFAERST B |[EILH P RFEESST B 0.1 3 3 0 0 0 00 0 0 0
167 LU 4 B 7 3] 4] 2015 02] 40180[ILTFFRFHER2TH1 [ELHHRELITHI 0.4 249 248 0 0 1 00 0 0 0
168 & LUl 4 R 7 2| 4] 2015 02| 40180|@ILTHREILTT B REWLFRXERELITHES 0.2 52 52 0 0 0 00 0 0 0
169 & LU 4 R 7 2| 4] 2015 02| 40180|@ILTHHREIITT H3 FE LT R X B2 0.4 115 115 0 0 0 00 0 0 0
170 Ll 4 B 7 2| 4] 2015 02| 40180|F# LT X B2 FA L P XFIEXERT3 T B 0.5 56 56 0 0 0 00 0 0 0
171 | L4 B R 2| 4] 2015 02| 40180 LT X PIEHXALET3 T B YR ILHi X iE 0.3 28 28 0 0 0 00 0 0 0
172| ] L4 B R 2| 4] 2015 02[ 40180[ELHich X & i) LT o X 0.4 120 120 0 0 0 00 0 0 0
173| ] L4 B 7 2| 4] 2015 02[ 40180[ELTHich X & R L e X 0.5 88 88 0 0 0 00 0 0 0
174| ] L4 B R 2| 4] 2015 02[ 40190 LT R L RGeS 29 537 533 0 4 0 99 0 1 0
175 Ll 4 B 7 2| 4] 2015 03| 40200/ & LLi 7 3 XX o 1| T LT RXAIEI4T B 1 0.9 151 150 0 1 0 99 0 1 0
176 LU 4 R 7 2| 4] 2015 03] 40210|@ILTERR A &14 T B 1 | &) L 77 B X 6 K 5 AR B 2.1 481 479 0 0 2 100 0 0 0
177| R L4 R 4] 4] 2015 03] 40220|@IL TR R AKX FHE FE (LT R X K 3F IR 22 223 222 0 1 0 100 0 0 0
178 L4 R 45 2| 4] 2015 103|  40220|f@ L B X 7GR F 8 R R X FEAFREIT A1 0.6 112 109 0 3 0 97 0 3 0
179| & L4 B 7 4| 4] 2015 103| 40230|fE I LR XFEKRFE TR FERFRE 0.7 17 17 0 0 0 100 0 0 0
180 Ll 4 B #7 2| 4] 2015 103| 40230|RE LT EXFERFHE i) L 77 B X a1 T 1.4 9 9 0 0 0 100 0 0 0
181| /@ L4 B3 2| 4] 2015 103| 40230 ] 1L 77 B X #4215 BT EILTERERBEE 22 118 107 0 2 9 91 0 2 8
182|Ff L 4 R 45 2| 4] 2015 103 40240|f T RXTEE LT RXFF 3.2 78 78 0 0 0 100 0 0 0
183 S AR 2| 4] 2015 101] 40250 |fE L AL X2 ARET IR ML b XEEET IO 10 83 83 0 0 0 100 0 0 0
184| RELELR 2| 4] 2015 101| 40260| LTI REE KB LR EE FiE 14.2 362 362 0 0 0 100 0 0 0
185|FAF LGSR | 4] 4] 2015 103]  40270|EILTEEFEAFE2THI |[AILMERBEBAFFHITHIG 0.7 163 163 0 0 0 100 0 0 0
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186|FERFILMGHR | 4] 4] 2015 103] 40270|ALUTERAXRFHITHI6 [AUTHERAKRFL2THY 0.5 208 208 0 0 0 100 0 0 0
187|FERFILMGHR | 2] 4] 2015 103| 40270|MILTERAXRFL2THI [AILTREREAR 04 59 59 0 0 0 100 0 0 0
188|FERFILMGHR | 3] 4] 2015 103|  40270|EILTHE X AR EILTHEREAR 0.4 35 32 0 3 0 91 0 9 0
189|FERFILMGHR | 2| 4] 2015 103  40270|ILTER A K LT ERREA 1.4 71 71 0 0 0 100 0 0 0
190|FERFILGHR | 2] 4] 2015 103| 40280 | ILTHEX{EA EILTRERXEES 4 218 180 22 0 16 83 10 0 7
191|FERFILGHR | 2] 4] 2015 103|  40290|EILTHTEREFES LT RXBEFR T 3 304 226 22 0 56 74 7 0 18
192|FERFILGHR | 4] 4] 2015 103 40290|MILTHERZEFAT T ENLEEY = I 0.8 79 65 14 0 0 82 18 0 0
193|FERFILGHR | 4] 4] 2015 103| 40300 | LR EBEFET #F ENLEEY = I 0.6 66 56 0 0 10 85 0 0 15
194| & LLEAR 4] 4] 2015 104| 40310|RE LIt X+ B i B LTt X+ BHGE15 0.7 56 56 0 0 0 100 0 0 0
195 LU AR 4] 4] 2015 104 40310 ] Ly 7 e X 2 S AT 1 ELfRXEERITHS 1.3 276 273 0 3 0 99 0 1 0
196 & LU ELR 4] 4] 2015 104 40320/ LT REIREESRITH3 RE LR X TRy 12 3 478 478 0 0 0 100 0 0 0
197|MILEEZLR | 6] 4] 2015 101|  40330|f@ LIt X ERAIATI T B 1 [ L b X EE R T2 0.6 209 209 0 0 0 100 0 0 0
198 L EFF R 2| 4] 2015 104| 40340|F# L R ;T AL X Tl 0.5 133 133 0 0 0 100 0 0 0
199 1L E Fr 7 2| 4] 2015 104| 40340\ LR EEEIT A1 e L X S ST RT 13 1.2 22 22 0 0 0 100 0 0 0
200 L E B iR 2| 4] 2015 104|  40340|F# L R T i A L P X GTaR 04 37 37 0 0 0 100 0 0 0
201 | 1L E R 2| 4] 2015 104 40340\ LR EEEIT A1 LR XEFEITHI 0.4 29 29 0 0 0 100 0 0 0
202/ 1L E R 4| 4] 2015 102| 40350 |fE L R XPIAEEART2 | X FRIRAET 11 0.8 355 355 0 0 0 100 0 0 0
203|fE I EFiR 6] 4| 2015 102| 40360 & LT 1 X iR A BT 11 FILHPREHITHI 0.9 316 316 0 0 0 100 0 0 0
204|FE L EFiR 6] 4| 2015 102| 40360|@LTHPRFEHITHI9 FILTPREHTITHI8 1.6 237 237 0 0 0 100 0 0 0
205|fE LU E B iR 6] 4| 2015 102| 40360|@ILTHPRFEHITHIS 1] 0.6 58 58 0 0 0 100 0 0 0
206 LU E B iR 6| 4| 2015 102 40370/ LT REH ELLA Y i 4 237 228 0 1 8 96 0 0 3
2071 E R 2| 4] 2015 104| 40380|Ff LT f RFTEHE FE LT AR X TSR 04 0 0 0 0 0]- - - -
208 LU E Fr#R 2| 4] 2015 104| 40380 (LI T A X B5H 8 Ll T e X 0.5 14 14 0 0 0 100 0 0 0
209 1L E 7 HR 2| 4] 2015 104| 40380 (LI T A X B5H MG o 0.7 0 0 0 0 0]- - - -
210 1L EFrHR 2| 4] 2015 104| 40390 (LI T RE X B5H [ LRI X ER 2 217 217 0 0 0 100 0 0 0
211 | I E R 2| 4] 2015 104| 40390|F# LI Rg X &R 8 LI T R X &R 1.2 102 102 0 0 0 100 0 0 0
212|fHR kAR 2| 4] 2015 101 40400 |@EILTILX#EE FEAE LTt REE FE 3.7 73 67 0 6 0 92 0 8 0
213| R EHIELR 2| 4] 2015 104| 40410|EILTHEAX HETH LT X S FHE 1.1 39 39 0 0 0 100 0 0 0
214| B EHIER 2| 4] 2015 104| 40410|E IR SER EmE R A% 1.6 244 244 0 0 0 100 0 0 0
215| sk EHIELR 4| 4] 2015 101] 40420|@ LTIt R BB A5 AUFIEREL 0.8 155 155 0 0 0 100 0 0 0
216| sk EHEIER 2| 4] 2015 101 40420[E Lt XEE ALmEtREEL 0.3 12 12 0 0 0 100 0 0 0
217 | EHIELR 2| 4] 2015 101]  40430|MIUHIR—F EILHtRAE 22 333 330 2 0 1 99 1 0 0
218| Bk EHEIELR 2| 4] 2015 101] 40440|fE L IL X KE AT ItRES 32 57 57 0 0 0 100 0 0 0
219| Bk EHIELR 2| 4] 2015 101| 40450|F@ LTIt R K% LTt XEE 1.4 3 3 0 0 0 100 0 0 0
220| sk EHEIELR 2| 4] 2015 101 40450 | LTI XIEE MLt R =% 36 21 21 0 0 0 100 0 0 0
221 | B EHIELR 2| 4] 2015 101| 40450(fE UL X =% LTIt X B F 3.7 25 25 0 0 0 100 0 0 0
222| bk EHEIELR 2| 4] 2015 101| 40460|f LTI R BHIEF L XEE FiE 75 95 95 0 0 0 100 0 0 0
223| bk EHEIELR 4| 4] 2015 101 40470|RE LA IL R A K 8 LI X 5 A FEERETS 1.1 309 309 0 0 0 100 0 0 0
224|FAKFEREIER | 4] 4] 2015 103| 40480|RE I LR XFEKRFIE FE] LLI v B X 7 K S 5 1.7 11 11 0 0 0 100 0 0 0
225|F K FHERIER | 4] 4] 2015 103|  40480|f@ LT X FE K F5i#d FE] LLI v B X 7 K S 5 0.4 11 11 0 0 0 100 0 0 0
226| A KEELER 2| 4] 2015 101  40490|RE LT LXIZARET AEA |MEILd L XEEET M 5.5 30 30 0 0 0 100 0 0 0
227 EKRFHR 2| 4] 2015 101| 40510| UL RfEE T & Lddb X B3R 10.1 100 100 0 0 0 100 0 0 0
228 B R FHR 2| 4] 2015 101| 40520\ LT IL R HE ELGE PN 1.1 33 33 0 0 0 100 0 0 0
229 B R FHR 2| 4] 2015 101 40530|fE UL XIZARET &L |EILAEXEE HT 6.9 87 87 0 0 0 100 0 0 0
230| A LI 5% 4| 4] 2015 101] 40540 L db X 2§ At XA 0.5 1 1 0 0 0 100 0 0 0
231 | 1L PR 4| 4] 2015 101] 40540 L db X 2§ EILHEERES 3.8 2 2 0 0 0 100 0 0 0
232/ LU PR 4] 4] 2015 101] 40550/ IR ES MLUTLEXES 0.2 2 2 0 0 0 100 0 0 0
233 LI & PR 2| 4] 2015 101| 40560/ UL X =F0 BTGNS 438 4 4 0 0 0 100 0 0 0
234/ 1L PR 2| 4] 2015 101] 40570|@ WLt R LE AT ItREE 42 1 1 0 0 0 100 0 0 0
235|[# LI & PR 2| 4] 2015 101 40600 | ILTILEFEE EILHEERES 2.6 9 9 0 0 0 100 0 0 0
236| E S = MR 2| 4] 2015 101|  40620|F# L 3L R AN A LAt K n s 0.4 3 3 0 0 0 100 0 0 0
PRIEEIN 2| 4] 2015 101| 40630|F# L 3L R AN ENGE A = 22 73 73 0 0 0 100 0 0 0
238| B BN EA TR 2| 4] 2015 104| 40640|@EILTHREAX B4R EILHREXER 0.6 12 12 0 0 0 100 0 0 0
239| B BB TR 2| 4] 2015 104| 40650|F# LRI X P EILh R XER 34 84 75 8 0 1 89 10 0 1
240| B BB THER 2| 4] 2015 104| 40660 F# LI i R X BT 8 Ll T e X 5 198 198 0 0 0 100 0 0 0
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241 |#a3t = 4R 2| 4] 2015 101| 40670|F LT IL R HE Lt R =51 238 20 20 0 0 0 100 0 0 0
242|#a3t = F4R 2| 4] 2015 101| 40680|F LTI RFEH B LAt X FE LA 438 27 27 0 0 0 100 0 0 0
243|{E H R R 2| 4] 2015 103 40690|FE LT EREAHT SHl FILTREXFEFE SHl 34 31 31 0 0 0 100 0 0 0
244 | R LAEERR [ 1] 4] 2015 102| 40700(REILTIHETF L P X R E 038 223 223 0 0 0 100 0 0 0
245\ LfEEAR [ 2] 4] 2015 102| 40700 |fE 1L A X K fF AUmPRLHE 0.2 20 20 0 0 0 100 0 0 0
246 R LEEAR [ 2] 4] 2015 102| 40700|fE LA X+ H AUmPRLHE 1.2 206 206 0 0 0 100 0 0 0
247\ LEEAR [ 2] 4] 2015 101| 40710/ U RtH AT EREE 22 14 14 0 0 0 100 0 0 0
248 | LfEEAR [ 2] 4] 2015 101| 40710|RE IR X KE TG A 15 61 61 0 0 0 100 0 0 0
249 | LEEAR [ 2] 4] 2015 101 40720|RE LT X E 4k ELmtEEE F40 10.9 171 171 0 0 0 100 0 0 0
250|ERFHTE#R 2| 4] 2015 103|  40730|EILTHERE A~ R EILTERE 19 3 3 0 0 0 100 0 0 0
251 |ERFHTEHR 2| 4] 2015 103| 40730 L X F % EILTHERERRMTER 0.6 15 11 2 0 2 73 13 0 13
252|ERFHTEHR 2| 4] 2015 103|  40740|R LT ER MR IR X S #E 5.4 155 155 0 0 0 100 0 0 0
253 LU FREEER 2| 4] 2015 102| 40750|F# L R B R 8 LT o R B R 0.2 89 89 0 0 0 100 0 0 0
254 L FREEER 4] 4] 2015 102| 40750|F# L R B R EILf PR FRE 0.7 261 261 0 0 0 100 0 0 0
255| @ LU FREEER 4] 4] 2015 102| 40750|F@ L X FRH EILT XS SHER 0.3 147 147 0 0 0 100 0 0 0
256 | LU FREEER 4] 4] 2015 102| 40750 i A XA 7K L FRXFHF1ITHS 0.2 85 85 0 0 0 100 0 0 0
257 L FREEER 4] 4] 2015 102 40750|@ TR RbHITHS ELFFXFH1THE 0.1 42 42 0 0 0 100 0 0 0
258 LU FREEER 2| 4] 2015 102| 40760|@ LR H1THSG LT HX LM 3.3 664 664 0 0 0 100 0 0 0
259 | LU FREEER 2| 4] 2015 103|  40770|EILTHER X X2 ENLEEY =l I 6.9 271 271 0 0 0 100 0 0 0
260| A LU FRFEHR 2| 4] 2015 103 40780|ILTHERBEFET #F EILTRXBEFR KBAR 1.1 209 207 0 0 2 99 0 0 1
261 | L FREEER 2| 4] 2015 103| 40780|REIUTHEXFEFAT KR |EILUHMERXBEFE = 5.7 363 362 0 1 0 100 0 0 0
262/ L FREEER 4| 4] 2015 101|  40790|fE Lt K REHT2 T B5 LTt X FEA3T B2 0.3 267 267 0 0 0 100 0 0 0
263 LU FREEER 4| 4] 2015 101|  40790|FELH L KE AT T B2 LTt R KFNET2 T B9 0.4 248 248 0 0 0 100 0 0 0
264 L FREEER 4| 4] 2015 101 40800|RE Lt R AFIET2 T B9 ) Ll FT 36 X e BT 0.5 309 309 0 0 0 100 0 0 0
265| LU FREEER 4| 4] 2015 101| 40800 |FH LI H R #8) IR ENMG el 0.5 174 174 0 0 0 100 0 0 0
266 | LU FRFE R 4] 4] 2015 101] 40800 ] L1 A X 7611/ [T s = =) 0.2 58 58 0 0 0 100 0 0 0
267 | L FREEER 4| 4] 2015 101] 40800 L X1 H EILf PR E 0.2 141 141 0 0 0 100 0 0 0
268 | LU FRFEHR 4| 4] 2015 101] 40800 L P X1 H MLl XGH 1.9 549 549 0 0 0 100 0 0 0
269| B SE MR 4| 4] 2015 101]  41710| BB HEIR EBHTE 1 41 4 0 0 0 100 0 0 0
270| B S = MR 4| 4] 2015 101]  41720| BB M EE BRHTE 1.1 2 2 0 0 0 100 0 0 0
27 | SRR 2| 4] 2015 104| 60010|fE LR X 3% E LT EXKE 0.4 17 15 0 0 2 88 0 0 12
272| B SRR 2| 4] 2015 104| 60010|fE I LR X 3% E FiE) L 7 X Bk S M 1.8 160 159 1 0 0 99 1 0 0
273| B S Rt 2| 4] 2015 104| 60010|F# LT3t X #E)1I FALHItRTEEH 1.4 169 169 0 0 0 100 0 0 0
274| BB R 2| 4] 2015 104| 60020|[AILTTRIRES LT EXKE 45 924 921 1 0 2 100 0 0 0
REEER 2| 4] 2015 101| 60030|F& LT L R KA H ETGEAES: -] 27 143 143 0 0 0 100 0 0 0
276|=FIFEEEFHR [ 2| 4] 2015 101| 60040|FA LT LR =0 BT ItREE 5.8 63 63 0 0 0 100 0 0 0
277|R L& B 4| 4] 2015 101| 60050|@ LTIt REFH4T HS XS 1ITHI3 1 230 230 0 0 0 100 0 0 0
278 L& B 4| 4] 2015 101| 60050|@ELHILES1THI13 Rt lE2 T B33 1 324 324 0 0 0 100 0 0 0
279 L& B 4| 4] 2015 101| 60060|RE L X FILE2T B33 |EILddERA%K 0.4 78 78 0 0 0 100 0 0 0
280| A LI & B 2| 4] 2015 101 60060 L db X A K LRI RAK 0.7 52 52 0 0 0 100 0 0 0
281 | LA B 2| 4] 2015 101| 60070|RE L IL R A K AH It KT 1.7 317 317 0 0 0 100 0 0 0
282/ LA B 2| 4] 2015 101] 60080 ] 1L 4t X S 87 ETGEAES: -] 1.2 257 257 0 0 0 100 0 0 0
283 L& B 2| 4] 2015 101] 60080 ] 1L 74t DX #4811 ENTGEAES: -] 0.6 117 117 0 0 0 100 0 0 0
284| KTZHEGHR | 2| 4] 2015 101| 60090 A LU 3k X K TTER A3 8 LIt X EE A AET 8 04 349 349 0 0 0 100 0 0 0
285| KTiEHEGHR | 6] 4] 2015 101| 60100|F# LIt X EEFA A M8 LTt XERBTI T E8 0.3 341 341 0 0 0 100 0 0 0
286| KTTiZHEGHR | 6] 4] 2015 101| 60100[fE LTt XEEMBT1I T B8 MLt T B 04 234 234 0 0 0 100 0 0 0
287|xwmsgtagm| 2| 4] 2015 101|  60110|F# LIt X K TTERHIT3 TG E A= 04 27 27 0 0 0 100 0 0 0
288|EEEEIG#R [ 2[ 4] 2015 104 60120 ] LI T e X SR B LT EXKE 0.2 32 32 0 0 0 100 0 0 0
289| ALiE P B R 2| 4] 2015 103|  60130| i LI T B X 4% ] LT 2R X < R BRAT3 T B 3 1.2 13 13 0 0 0 100 0 0 0
290| A iE P B iR 2| 4] 2015 103| 60130|M TR &RERAT3T H3 |MILTHRXFBEXFEME 1.1 21 21 0 0 0 100 0 0 0
291 | NI B4R 2| 4] 2015 103|  60130| i LLI T B X P K SF ] LT R X FEAFREIT A1 2.3 363 363 0 0 0 100 0 0 0
22| FEEIG#R [ 2[ 4] 2015 103] 60140|A LT EREAHT H#E MILTEREREFE T 05 170 170 0 0 0 100 0 0 0
203|rEesEmanis| 2| 4] 2015 103| 60150|[ILTHERBERET FE EILTERXBEFE SH 1.3 90 90 0 0 0 100 0 0 0
204 ZEEEISHR [ 2] 4] 2015 101| 60160 | LIt XEEERET H Rt XEERET EH 0.8 17 17 0 0 0 100 0 0 0
295 /R 2 AR 2| 4] 2015 104 60170 LRI R AR FiE) Ly T e X 2 SR 10 5.5 798 795 0 3 0 100 0 0 0
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296| B SIBAR 2| 4] 2015 104| 60180|ILTTRIREES1TH?2 R LR RKERFIT A 24 420 420 0 0 0 100 0 0 0
297| B EBAR 2| 4] 2015 101]| 60190 L3t X 7+ A B3 8 1L R RAE T4 27 600 600 0 0 0 100 0 0 0
298 IMIB K B R 1| 4| 2015 104| 60200|F@ LRI R M2 T B 15 LR XEEE2T B 1.7 607 607 0 0 0 100 0 0 0
299 IMIB K TR 1| 4| 2015 104| 60210\ LT X{EEFE2T B1 EILHRERXE 35 965 965 0 0 0 100 0 0 0
300[;T & MR 2| 4] 2015 102| 60220 F# L 1 XTI TP XA 24 126 126 0 0 0 100 0 0 0
301 TSR 2| 4] 2015 102| 60230|f LT ERRHKE FE L AT R R B 1.4 32 32 0 0 0 100 0 0 0
302 T I &R 2| 4] 2015 103|  60240|F LT R R BUGE LT ERXSERE3T B 2 108 108 0 0 0 100 0 0 0
303 [P A LR 2| 4] 2015 102|  60250|F# LU X H T FA L AR R A 3.1 515 515 0 0 0 100 0 0 0
304|8HE IR IR 2| 4] 2015 104| 60260 (LI T R X 5E ) LUy T e X A 0.4 0 0 0 0 0]- - - -
305| EAHEF 2 OfR [ 2| 4] 2015 101| 60270|f@ UL R E48 LTt XREE a0 11.3 77 77 0 0 0 100 0 0 0
306| R R 7 2| 4] 2015 101| 60280 UL X [R & LU 7 o X R 0.9 24 24 0 0 0 100 0 0 0
307| R R R 2| 4] 2015 101| 60280 fE 1L 1 A X TR MG e 1.4 199 199 0 0 0 100 0 0 0
308| R kR 7 4] 4] 2015 101| 60280 LT AR P H LT XpHITH6 0.3 114 114 0 0 0 100 0 0 0
309;BHF #7 2| 4] 2015 103  60290|ALTHERE EILHERXBEFE T 3.6 217 217 0 0 0 100 0 0 0
310|—HHi#F#R | 2| 4] 2015 103| 60300|fEILFEX—HH FILTERXEFE F 5.1 307 307 0 0 0 100 0 0 0
311 [T KR FR 2| 4] 2015 103 60310[f LT 5T X Fa K ¥ 51 s ] L7 3R X 7 K 0.4 5 4 0 1 0 80 0 20 0
312 TR FR 2| 4] 2015 103| 60310|E I LT EXFEXRF ] LLI v B X 7 K S 5 1.3 109 109 0 0 0 100 0 0 0
313|4meamiss| 2| 4] 2015 103| 60320l (L1 1 B8 X 76 K 3 P Al FiE) Ly 77 3R X 6 K < P il 0.6 28 28 0 0 0 100 0 0 0
314| ERTEIAESRR [ 2| 4] 2015 103| 60330 & LI B X _E BT 40 FE) L AT B X fT S 18 14 14 0 0 0 100 0 0 0
315 #I% B AHR 1| 4| 2015 103| 60340 F#] LLI T 3K (X #655 T EILHERXEA 3.7 108 108 0 0 0 100 0 0 0
316|ER MR 1] 4] 2015 103 60350/ LT ER Eim i) LI v B X 5 T 9 196 196 0 0 0 100 0 0 0
317|zmaqsmimm| 1] 4] 2015 103 60360/ LT ER Eim IR X IE 55 81 81 0 0 0 100 0 0 0
BI8|HARMEEMR [ 2| 4] 2015 103|  60370|EILTEREE AR MAILTEREREE 22 72 72 0 0 0 100 0 0 0
319|BETFR 1| 4] 2015 103| 60380 ] LI T B X BRI BMUTERAAF—F 2.1 13 13 0 0 0 100 0 0 0
320| B HEFH R 6] 4[ 2015 101|  60390|FE Lt RS #IFaHT 17 LTt XEFHST 18 0.8 218 218 0 0 0 100 0 0 0
321 | AEF AR 6| 4| 2015 101|  60400|fE Uik X S FaEr17 LTt X SHIFEET 17 0.1 41 41 0 0 0 100 0 0 0
322|AMGFIEAHR [ 2| 4] 2015 101| 60420|fE L IL X BiSF LTI RER 7 43 43 0 0 0 100 0 0 0
323| EFERILER [ 2| 4] 2015 101| 60430|IUHIRFE ENTLE A=Y 3 23 538 538 0 0 0 100 0 0 0
324| EFERILER [ 2| 4] 2015 101|  60440|F@ L L R &1L L e X AgE 25 111 111 0 0 0 100 0 0 0
325| EFEMILER [ 3] 4] 2015 101] 60450 1L 4t X & &R Lt X S EA R 04 226 226 0 0 0 100 0 0 0
326| EFERILER [ 2| 4] 2015 101] 60460 LI b X48E FALHtREE 1.2 48 48 0 0 0 100 0 0 0
327| EFERER [ 2| 4] 2015 101| 60470|@ILTHILRFE ALHItRKRE 3 143 143 0 0 0 100 0 0 0
328| REF S 4R 2| 4] 2015 101| 60480\ LTIt R KF FE) Ly 77 36 X S #n F e 1.8 15 15 0 0 0 100 0 0 0
329 EE?‘.%‘ N 2| 4] 2015 101| 60480|F# LI It X = ¥AFEfeT AUTtREREEF 24 112 110 2 0 0 98 2 0 0
330[JI ABEFHR 4] 4] 2015 101|  60490|fELidb BRI A 8 LI X 5 A FEERETS 23 209 209 0 0 0 100 0 0 0
331 [JIABFHER 4| 4] 2015 101| 60500 LIt X B A FE TS EILFER AL FRET B 1 24 415 415 0 0 0 100 0 0 0
332|J I ABEFHR 4] 4] 2015 101 60500|fE L b X AR FREI T B 1| Lt XS FERT 7 0.5 203 203 0 0 0 100 0 0 0
333|-=mm—=smsn| 2| 4] 2015 101]  60510|@ILFILtE—& FELFtR—= 0.2 35 35 0 0 0 100 0 0 0
334|LgrmEplEsR| 2| 4] 2015 104 60520|F@ LRI Z$TH ALHERXE 0.7 48 48 0 0 0 100 0 0 0
335|LgrmplEsR| 2| 4] 2015 104| 60520|fE L db X H LA X &I T B 21 28 1215 1215 0 0 0 100 0 0 0
336| E e H R 2| 4] 2015 101] 60530 ] 1L 4t X S 87 Lt R E# 0.8 254 254 0 0 0 100 0 0 0
R EE T 2| 4] 2015 101| 60540 L ILRIIA & L b X i 22 170 170 0 0 0 100 0 0 0
338|BMAE AR 2| 4] 2015 101|  60550|@ILTItXEE EILfEREE R 5.6 29 29 0 0 0 100 0 0 0
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